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lllustrate the answers wherever necessary.

Introductory Microeconomics

1. | Answer any ten questions : 10x2
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What is positive economics ?

What are the bzsic questions, which economics try
to solve?

Write two processes of price control,

Write two factors which shift the market demand
curve upwards.

What is consumer surplus?
What is cross price elasticity of demand ?
Write two conditions of profit maximisation of a firm,

What is marginal revenue product?
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{1) Write two features of perfectly competitive market.,_g

i) In which region of the demand curve, the monopolist
will try to produce?

(k) Write twe features of indifference curves.
() What is the law of variable proportions ?
(m) What is opportunity cost?

(n) Define the modern theory of rent.

{o} What is elasticity of supply?

2. Answer any four questions @ 4%5
{a} Define and explain the rationing process.

(b) How is the supply curve derived for a perfect.
competitive firm ?

(c) How does the consumer attain equilibrium ? Explain
through the indifference curve and budget constraint.

(d) Explain the cause behind the backward bending
labhour supply curve.

{e) Discuss the exceptions of Law of Demand.

{i How do the average fixed cost and average variable
cost curves look like ? Explain with diagrammatic
representation.

3. Answer any two questions ; 2x10

fa) Discuss how a firm in a perfectly competitive market
reaches equilibrium in the short run.

L

; . #
(b) What is derived demand? Explain the marginal -
productivity theory of distribution. 2+8
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{c; What is price elasticity of demand ? Discuss the
determinants of price elasticity of demand. 4+6

(d) E;’kplain when price discrimination is possible and
profitable. - 4+6
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